A A _ 133,333.3%, _5

A AR 24,000% + JEAT Z 45 +12,000%,

= AT 295 =17,333.3%
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1 o )
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QRsLE =

At 53,333.3% + k47 A 14

Ak =—o—= — =50%
A 226,666.6%,
= 437 & 1 = 60,000%,
A= 3]
AR A Ak
K B92412A318 5 ¥
" A AR AN RAE &
REEE - A
E $16,000 JEATRIR $24,000
JEAMR K 48,000 JEAr 2% 17,3333
P | 69,3333 JEAT & R 12,000
REA AL $133,3333 B AEES $ 53,3333
FERERE 93,333.3 |4&d7 & i 60,000
AfRest $113,333.3
L@ $79,7333
R Bk 33,600 1133333
H A K $226,666.6 | &t AN RAE 53 63 $226,666.6
e o1
ERPPIATEAR  RATRARIEA TR FRIVEAK S - RE AR
WA — SF3H
AR FH X (1-d) =320,000% x4%x (1-25%) =9,600%,
.61 e oArN 1610
A firm has the following balance sheet:
Cash $20 Accounts payable $20
Accounts receivable 20 Notes payable 40
Inventories 20 Long-term debt 80

Common stock 80




Fixed assets 180 Retained earnings 20

Total assets $240 Total liabilities and equity $240

Sales for the year just ended were $400, and fixed assets were
used at 80% of capacity, but its current assets were at optimal
levels. Sales are expected to grow by 5% next year, the profit
margin is 5%, and the dividend payout ratio is 60%. How much
additional funds (AFN) will be needed?

(A)-$4.6 (B)-$6.4

©%2.4 (D)$4.6

£)$5.8. [ 1004835 X3t 8 8t 257 ]
é B

Ti?ﬁ"‘l /:?;éé‘%l)ﬂ%ﬂ;%m% ;
ZEEHE FAxﬁUﬂ% 180% x 80%

ﬁﬂ] " S 400
FA 3
BRI B R = M-—iéﬂf-amﬁﬁl““
180% x 80%

= (400 % 5%) x — 22770 _ 180 (1—80%) < 0
400

SRTFRHNEETE A
AFN = AA — AL — AE = ACA + AFA — AL - AE

=ASX%+O—AL—AE

= (400><5%)><ﬂ - (400x5%)x£— 400X (1+5%)%x5%
400 400

X(1-60%)
=-6.4<0
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Considering each action independently and holding other things
constant, which of the following actions would reduce a firm'’s
need for additional capital?

(MAn increase in the dividend payout ratio

(B)A decrease in the profit margin




